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QUESTION 1

Which of the following rules indicates an incorrect or missing feeder statement?
A. Jan and Q1 have values but Feb and Mar are zero.

B. Jan and Feb have values but Mar is zero.

C. Jan, Feb, Mar are zero but Q1 has a value.

D. Jan, Feb, Mar have values but Q1 is zero.

Correct Answer: D

QUESTION 2

An application developer needs to provide dates in a number of formats in a cube.
Which of the following should be used to do this?

A. Create many time dimensions and use each accordingly.

B. Create a single time dimension with attributes for the formats.

C. Create many time dimensions and use them all in the same cube.

D. Create a single time dimension with rules in cubes to alter the appearance.

Correct Answer: B

QUESTION 3

Data is loaded into cells in a cube. A cell is identified by the intersection of items from which of the following objects?
A. Attribute

B. Subset

C. Dimension

D. Slice

Correct Answer: C

QUESTION 4
Why is the same error generated from Tl processes repeated multiple times?

A. The TI process was executed more than one time.
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B. The chore was executed more than one time.
C. The TM1 server ran the process for each cell in the cube.
D. The script in the process ran for each row in the source.

Correct Answer: D

QUESTION 5

Which TM1 object is created using Turbo Integrator?
A. Action buttons

B. Dimensions

C. Chores

D. Application folders

Correct Answer: B
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